A) = A B
30,681 1,56332, 24
54,104 52,496 1,608 1399 33,275 36 1950
6,500 6,146 354 354 5371 600 42
131 131 0 0 147 131
59,664 57,702 1,962 1,750 38,793 42 1092
( < >
)
14,021 13921 100 100 0 1975
5,560 5479 81 81 35,391 1,907
10,173 10,154 19 19 0 731
500 500 0 0 215 174
7910 7618 292 292 161 1171
6,371 7,236 - 865 10,256 568 879 4,401
( < >
)
1115 1,060 55 55 0 48
578 463 115 115 0 -
39,312 38,868 444 444 0 -
8171 7952 219 219 0 -
14177 13578 599 599 28,910 42
689 680 9 9 752 7.1
0 0 0 0 0 -
43 110 30 0 0 0 0
19 310 5 129 0 11,717 0
0 307 300 28 0 0 0
377 3,709 331 0 1,500 0 0
. 061 5.7
. 0 86. 2




